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Worksheet 5 KEY — Inverse Functions (83.7)
@f '3 =1 g '(2=3 € (ftegH(-4)=3
(b) f~1(4) = -3 (d) g~'(0) = -2 M@ tefHA)=-2
@ f '3 =2 ©g'(M)=2 € (fteg™(0) =4
(b) f'4) =0 d)g'(4) =4 M@ tefHA=3
1)

(@) Not invertible because f(2) = f(—3), but 2 # —3.
(b) Is invertible because no 2" coordinate is repeated. f =1 =

{(_3)1); (4’: _3)) (_110)r (2)2)}
(c) Is invertible by the horizontal line test. f~1(x) = (x + 4)3
(d) Not invertible because f(2) = f(—2), but 2 # —2.

(e) Is invertible because f(a) = f(b) = 1_a2a = ﬁ =>a—2ab=b—2ab=>a=
b. f1(x) = 1_xe

(f) Not invertible because f(—1) = f(1), but —1 # 1.

5. Good luck.

~

(g) f_l = {(—2,3), (3,1), (2,0), (1, _2)} (C) f_l(x) = x3 + 2
() f71) = —5x +3 () f1) =x2—2,x>0

Graphs are on next page.

“symmetric across the line y = x.”
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